Multiplication et Division par 10° (B)

15 = 103

37 - 103

93 + 103

53 x 103

32+ 103

59 x 103

34 x 103

89 = 103

49 + 103

98 + 103

Trouvez chaque produit ou quotient.

= 10 +10% =

= 50 x 103 =

= 2x103=

= 45 + 103

= 11 x 10°

64 +10° =

96 =+ 10° =

= 33 +10%=

= 34+ 103

= 90 + 10° =
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Multiplication et Division par 10> (B) Solutions

15+ 10°=0,015

37 +10°=0,037

93 +10°*=0,093

53 x 10° =53 000

32 +10°=0,032

59 x 10* =59 000

34 x 10° =34 000

89 + 10° = 0,089

49 = 10° = 0,049

98 + 10° = 0,098

Trouvez chaque produit ou quotient.

10 +10°=0,01

50 x 10° =50 000

2x10°=2000

45 + 103 = 0,045

11 x 10*=11000

64 +10° = 0,064

96 + 10° = 0,096

33 +10°=0,033

34 +10°=0,034

90 + 10°=0,09
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